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Explanations and answers to select questions

‘Vim’ is a common noun too. ‘Vim’ means 'energy'. ‘Giffy’ is not though ‘jiffy’ is.

Syllables are units into which a word is divided when spoken authentically correct.

Null is only an adjective and not a verb. So, option (D) is the correct answer.

Option (B) is the correct answer. All other options produce a ‘k’ sound of ‘ch’
unlike in option (B).

Option (C) is the correct answer. Errors/corrections appear in brackets : In a sell (sale),
we brought (bought) it for a paltry some(sum), it was a steel (steal).

Option (B) is the correct answer. ‘Clumsy’ means lacking ‘dexterity’ and ‘passive’
means lacking ‘will’. ‘Clumsy’ is not opposite of ‘dexterity’, ‘clumsiness’ is.

The whole passage is not about the Aryan era. The very first paragraph in its
second sentence states that it ‘gradually’ became complex, and later deals with
its complexities, all through. So, option (C) is the correct answer.

Only option (B) is the correct answer. Option (A) has the word ‘fatal’, which means
causing death or ending in death. ‘Gruesome’ does not exactly mean that. And in
the story, the man does not die of the injury or attack.

Which lights can go out ? He was only on a paddleboard which doesn't have any
lights. So it is about momentary blinding which gave the man that feeling. Hence,
option (C) is the correct answer.




